© (-4)+(-5)=_J(+5)

© (-5)+(+n =[] [ ]5)

D+, - -+ @ 4+, +, - - ® +, -+ -
@ -+, - + ® - - -




/]R_]— jq_lg % Tl Al

Aa

9

wehH 2], 4

3

¥l A4 2 2

(-13)—(-22)+(+27)—(+16)
=(—13)+(+22)+(+27)+(-16)
=(—13)+(—-16)+(+22)+(+27)

={(-13)+(—16)} +{(+22)+(+17)}

=—(13+16)+(22+17)
=(—28)+(+39)

=+11

@® 000

@ 7,

@ 1, o

® v,

@ v, ©

® L, =




©
| 7]
—
|
a =]
Tl= -
JXI_._O.I.
ﬂ__lﬂl_
o)

|
Br| ol | o
<IN~
H|x
|

@ #A @ i+

@ A&



olJ

o}
dlig
Nfo

ojn

® -5 Hrt2

® —2Htt4



N

@ 0.5

® 25



3
Mo
L AF
R ol
B2
o| or
qmo )
m S
o B
AR
N
T o
o N
= Uk
ol H
s
AN
= 4 o/,._
o 5 o
mw ok

6.

® 5 @ 4 ® 2

-3

D -1



7.

& & 21 ALt A3 v ] st
@D (-4) x (+1) @ (-1) x (-4)
@ (+2) x (+2) ® (-2)x(-2)

A7

® (



ol
[

o

, 1.5 FolA Al 5 HotA

® 5



O

o <

N

10 | b~

<t O






11. (-20)+<

O -2

5

3

)

15

— = AtsA?
7 A4tst

11
-5 0%



RS ol ato] AL 32

(=7) x 34 4 (=7) x 67

O -707

@ -490

® -100

@ 238

® 469



o 24 Al Hofl 21 v 429] o] BF TEE ThE
S0l g2 47

v e @ -2 @ -6 ® -10



14. o= 3=

7t=2, A=, H2t

ool & o, g o] Let2 5 51?7

-3 2
a 3
-2

® 5 @ 4

L

L



15. a= (+7.6)+ (=25)— (+1.1) , b— (+1) - (+§) 4 ( 2 ) 9 o,

3 5 15
a+b 9 Zke?

@ 3.6 ® 4.2

—
()]
| =3



® ©

doizgtol s d a-b o 3 35

Q
lo
DI
poei
N
o

w
o
o K
S
lo

N

4
M
o
£
=
>
|
[\
o
o
Y

27k 3 9 = 1 3 -5 ot

Aoigto] 4 oJskel e B 8 /i



17, old {5 A _g% o} &t

-3 o gt v A e



hse 9

= 2=

Z]

|1
w
alo

(1),
(2), (3)°llA o]

Nfo

L0

At 2

o
=

18. tt

(+4)
+(—10)+(+10)

(-10
)+(+
4)—(
-10)
(+4)+0

—

_Z_l

L
__OH

W

—_

!
jang

pild
I~
s

o
E|

i~
L

__OH_
W
~8
F1
ol
E|
~8
i

jang
i



@ (-1)% < (-2)*

@ 10% < 10°



20.

= AXFSHAE? (

o

NS 2




21. o= T AR AP 2 A2

o () + ()o@ (5) (G-
® 1048 ®2:2-(



22. thg A9 Ak £AE SHEA HAT e Bkt

—4+5x {(—=2)’+10}-(-2)
1 11

0L ©@ ©
© 3.0.6.8,@ 2 ©.0.0.8.0
® ©,©6,0,0 ® 9,@.6,0,0

© 6,600



23.

b
-=>0,axc>0¢% of,
c

o =

= O

@bXC ©Q+C



24.

= AN H A, BolA A

L J@!

#2 Aol e A C o H&

Sh 29
4 3 2
O-5 @-; ©O-g

[S{[SVE Hos)



25. A A2 B(-4) & HC@2) Al AFE5:1 & UE Holth A
A ZF el 27

® -2 @ -1 @0 @1 ® 2



26.

M2 e F 189 a, b ol tiste]
aab = (a, b T 0°| A 7W7k& 5,
avb = (a, b % 0°]A & )

2 gogn, (-2 {(+3) v (-3)} o mer



27. ot BE eyt ZF A F o] AE ol F o] M]3t M A7
Uetd Ao}, 7|20l 7} 7h4 & 2L

NG| M| A O (2| A A
Harzle(c)| -1 [ 8.3 2 |-4.4|-2.2
HA71e(c)|-8.8|-4.6| -5 |-15.9|-14.6

O A& A ® W
@ d ® A



L1111
276 12 20 30

@

W Do

1
2

SHIS
ol



29. b= T AR At A g2 A

o

B e BT AEH?

O -15+46-21=09 @ 3-254+09=14
1 3 1 43 2 1 59
®1—2—§—§——E @—10+§_§+8——€

® -15406-07=-16



c, d

a, b, ¢, d = A2 T2 Foltt, o B7]9 Y&-& il g, b,
£ 2 AHEH ygs Aor 22 7287
a7
H7]
@ a, b, ¢, d T 7V Z 5 b oIt
© ¢ = FFAA G- o] 0 BZof it

© b 2d 7t UE= 2 FAA A 9oz BEI)
A7t A= Zrt
@ a = d X} Ft

@ b, d,a, c @ b, d,c a @ b, c, d, a
@ b, a, c d ® b, a,d c



